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Figure 1: This is a caption

F2 = -200 I+ 250 J+ 100 K

Mo = r x f

= 0 I+ 0 j + 0 k

r2 = 4i + 5j - 3k

fr= -100 I+ 130J +175K

rA = 0 I+ 0J + 0K

rB = 4 I+ 5 J + 3 K

rA x f1 = i j k

0 0 0
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= 0 i + 0j+ 0k
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-100 130 75

=i 875-390 - j 700-(-300) +k 500 + 520

= 485 i -1000 j + 1020 k

Figure 2: This is a caption

SENθ = 3/5

COSθ= 4/5

TANθ= 3/4

FAx= FA cos θ = 4/5 FA

FBy FAY= FA SENθ = 3/5

FBx = FB COS 60

FBy -FB SEN 60

ΣFx = 0
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-FBx - FAy= 0

- 30 libras cos 60 - 4/5 FA=0

4/5 FA= - 30 libras

FA= 4/5(-30 libras cos 60) = 18.75

Para B

rBx= 6 ft FBx = 30 libras COS 60°

By= 0 FBy= 30 libras sen 60°

M A = RA x FAy - rAy = (9 pies) (3/5) - (0) (4/5 FA)= 27/5 libas * pies

Para A

rAx = 9 pies FAx= 4/5 FA

FAy= 0 FAy= 3/5 FA

M B = rBx Fby - rBy FBx = (6 pies) ( 30 libras sen 60°)- (0) ( 30 libras cos 60°)= 155.88 libras/pies

ΣM= 0 M B= MA =0

27/5 FA = 155.88

FA = 155.88/ (27/5) = 28.86

3


